HSC 2001 - Software Design and Development

Question 10

10 The elements of a one-dimensional array stadium_seat are shown. The smallest index
is 17.

What is the value of stadium_seat[20] — stadium_seat[18]?

A) 1
B) 2
© 3
D) 4
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 11 44 25 0 0
B 42.5 36.5 19.1 5.2 0
Cc 247 22.6 6.5 0 0
D 21.9 36.5 71.9 94.8 100
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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